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II. TỰ LUẬN:

	Câu
	Đáp án
	Điểm

	1


	a) 2HCl   +     Na2CO3   →   2NaCl   +    CO2↑   +    H2O.

2H+     +     CO32- →  CO2  +  H2O

b)  Fe  +  6HNO3 →  Fe(NO3)3  +  3NO2  +  3H2O
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    2CO2  +  Ba(OH)2  →  Ba(HCO3)2
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	Dùng dd HCl nhận Na2CO3
              2HCl  +  Na2CO3  →  2NaCl  +  H2O  +  CO2
Dùng dd Ba(OH)2
Lọ có bọt khí là NH4Cl 

      2NH4Cl  +  Ba(OH)2  →  BaCl2  +  2NH3  +  2H2O

Lọ có bọt khí và có kết tủa trắng là (NH4)2SO4

     (NH4)2SO4  +  Ba(OH)2  →  BaSO4  +  2NH3  +  2H2O

Lọ còn lại là Na3PO4
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  x = 4;   y  = 8;    z = 2
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CTPT : C4H8O2  
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